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211 00

OO0D00000Oqut-in00 width OO OO ODAtODOO0ODOOD0O00000D0O0O0OAtt
D000 widthODOOOOOODODODODODOOOOOOOODODOO

2.1.2 widthOOGOOGOGOOO
0000 [mV] ADC[channel] 00O [C]

112 361 8.96e-11
124 400 9.92e-11
136 441 1.09e-10
160 491 1.28e-10
178 048 1.42e-10
198 612 1.58e-10
206 680 1.65e-10
234 762 1.87e-10
280 857 2.24e-10
314 959 2.51e-10

e qvt-in 0 00 O width:40[nsec]
o Att:8-17[db] 0 1[db] 000D OO

e Gate-in 0 O O :200[nsec]

213 Att00000O0OO0
00 [nsec] ADCJ[channel] 00O [C]

152 910 2.34e-10
140 852 2.15e-10
130 801 2.00e-10
120 741 1.84e-10
110 681 1.69e-10
100 619 1.54e-10
90 253 1.38e-10
80 209 1.23e-10
70 452 1.08e-10
60 396 9.24e-11




e qvt-in 0 0 0 O width:60-152[nsec] 0 10[nsec) D OO0 00O
o Att:-20[db]

e Gate-in 0 O O :200[nsec]

214 00000

[ = dQ/dT0QO
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ooood
Q = V/R-t
e V:OOODODOOODDOOO][V]
e RNIMOODODODDOOO 50[Q]
e t:qvt-in 0 0 O O width [sec]
(a) (b)
y=ax+h y =ax+b
2510™ a 2.638\;?;2 8.424:;-n1); rrrrrrrrrrrrr rrrrrrr — 2510™ a 2.698\2/?};: 3.298;:); rrrrrrrrrrr rrrrrrrrrrrrr rrrrrrrrrrr -
b |-5.9708e-12 | 5.3932e-12 : : b |-1.3754e-11| 2.2113e-12 : :
22 2.0639e-22 NA i 2.3761e-23 NA
2 107 R| 099595 NA ? 2 107 R| 099941 NA
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3.1 UDOO0oooooooobon

gboggbbouoooobbooooobbooodgbobooo
OO0oobOoNOOOOOobobooogo N0 1230000000000 0bo0oboo
gbogobogbobogn \/NO’(O‘DND 100000000D0)000000D0OO0 fitting

ogdo
N, —N AN 2
ez exp Y N 1 (x — pN —q)
R(zx)=A g e — 1
() = N! oOrNo Xp{ 2No? (1)

x : ADC channel

A(pl) Normalization Factor
N@p2) : 000000

cp3) : 0OOO

p(pd) : 0OOOOO

q (pd) 000000000 channel

gogbododpdpdpodbudgbgbogbugbgbogooboobogoon

SERIAL.NO.ZK0965(2500V)

204 oo omes
= | Entries: : 58517
[ | X’/ndfi 90.96 / 96 | i
r | Norm.F: 0.5840E+05 + {7151
o 1 1 : | Npe {1294+  0.2590E-01
o o | 81484 | 0.1454
s 1 1 1 | Peak.Int | 2049 £ 1 0.3395
L A N e A pedestal CoragE T '0.2862
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3.1.1 fitOOoOd
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* *
* Function minimization by SUBROUTINE HFITH *
* Variable-metric method *
* ID = 279 CHOPT = ROS *
* *

>k 3k 3k 3k 5k 3k 5k 5k >k >k >k 3k 3k 5k 5k 5k 5k >k >k >k 5k 3k 3k 5k 5k >k >k >k 3k 3k 5k 5k >k >k >k 5k 5k 5k 3k >k >k %k %k %k >k k

Convergence when estimated distance to minimum (EDM) .LT. 0.10E+01

FCN=  38.20857 FROM MIGRAD STATUS=CONVERGED 456 CALLS 457 TOTAL
EDM= 0.68E-03 STRATEGY= 1 ERROR MATRIX ACCURATE
EXT PARAMETER STEP FIRST
NO. NAME VALUE ERROR SIZE DERIVATIVE
1 P1 59421. 1000.6 150.32 -0.18742E-04
2 P2 1.3338 0.41528E-01  0.33742E-02 -1.3595
3 P3 3.3668 0.78535E-01  0.10083E-01 0.99461E-01
4 P4 7.3073 0.18072 0.18486E-01 -0.32881
5 P5 27.754 0.13144 0.70212E-01 -0.41007
CHISQUARE = 0.8886E+00 NPFIT = 48

e CHISQUARED 1000000O00OOOO

o STATUS=CONVERGED

OO0D0DbO0obOOofit00 binODODOOOOOOODOODO

2CHISQUARE>10 STATUS=FAILED
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3.2 Gain

cain0 00000000000 fit0 00000000000 (200000 00ooooo
gain =y - calibration/(1.602e — 19) (2)
y : peakO OO
calibration : 0000 0.26982 £ 2.2%[pC/ch]

0000 (-V) peakO O

2300 1.995
2400 2.992
2500 4.174
2600 2.905
2700 7.949

O000at000000000000qvt 00000000 22%000000000 fitd
OO0 peakOOOOOOOOOOO
oodooodod
Oy Oy

Oy = (2y)y [(7)* + (?)2 (3)

00000 (2000 gin000200 3% 000000000

10°
| gain=kv® |
value error
|| K| 1.1849e-22| 1.02e-22
| o] s6479] 0.10847
7 16.621 NA
| R| 0.99791 NA |
£
[
o
woo S |

2100 2200 2300 2400 2500 2600 2700
-HV[V]

O 11: it 0000
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GainOOOOOODOODOOOO
OO0D00OD00OBleederDOOOOOODOODOODOOOOOODOO

0 O Bleeder O
00 (E5859) 43:1:16:1:1:1:12:15:2:24:3:39:3
00 (E5859MOD) 43:1:16:1:1:1:12:15:2:24:3:39:3

OoOOobo0oooboboobboo0b0obobooboboobOobooobO eSO n
O ESRMODODODOOOOODOODOODOO0OO0ODO0O0bO0OOOODOoDbO0OoOD Gain
gbooogooboboooooo

K a  Gain at -2500[V]
g  3.2e-22 8.52 2.8e+7
g 3.5e-21 8.32 6.9e+7

O 1: fitingO OO DO ODO-2500V 00 GainO
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—— YAMAGATA
= HAMAMATSU

10® r 7
j -
| ya
y = 3.5487e-21 * X\(8.3249) R=1 /
—y = 3.1842e-22 * X\(8.5186) R=0.99926 *
10"
| //
£ "
g "
//
106 // gain=KVv*
‘ 4 value error
s K| 1.1849e-22| 1.02e-22
‘ // a 8.6479| 0.10847
j " 7 16.621 NA
10° L R| 0.99791 NAJ
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3.3 Dark Current
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ZK0950

1000

—y=1.1956e-28 * x\(8.8487) R= 0.99912
~ y=4.1201e-33 * x(10.083) R= 0.99957
)
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